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			1) Which equation represents the following graph?
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			2) Complete the table for the equation  .
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			3) Which of the following graphs represents the equation   ?
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			4) Complete the table for the equation  .
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			5) Which equation represents the following graph?
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			6) Complete the table for the equation  .
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Solutions for the assessment Graphs - Cubic and Reciprocal

			1)  


			2) 1st line: -16, 0, 54;   2nd line: -1, 1;
3rd line: 4,4;   4th line: -53, 1, 4, 22, 61





			3)  


			4) 1st line: 8, 0, -27;   2nd line: 5, -5;
3rd line: -4,-4;   4th line: 38, 2, -4, -22, -46





			5)  


			6) 1.8, 2.25, 4.5, -4.5, -3, -1.5, -1.13





























































